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1. Giventwo vectors A = 2X+y+3Z,.4 B = xX-3y+22Z,

Find (a) the unit vector of A and B (10 %) (b) the dot product of A and B (5 %); (c) the

cross product of A and B (5 %) and (d) the acute angle between the two vectors by using the
dot product (5 %) and the cross product (5 %).

2. Along straight wire, carrying uniform line charge X, is surrounded by rubber insulation out to a
radius a. Find the electric displacement. (20%)
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3. Please write down the basic electrostatic properties of ideal conductors

(a) £ =9 inside a conductor (5 %)

(b) p=? inside a conductor (5%)

(c)if a and b are any two points within (or at the surface of) a given conductor, please write down
the relation between V, and Vy. (5 %)

(d) please draw & just outside a conductor. (5 %)
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